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70. Aisa4x4 matrixand |A|=-2, then|adj(adjA)|
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71. Area of the segment cutoff from the parabola y2=2x by the straight line y=:
1 3 9
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72. The equation of the tangent at (1, ) to the curve 3x?+2xy-y*+8x-6y+1=0 is
1) 9x-4y-1=0 2) 9x-4y+1=0 3) 9xdy-17:

4) 9x44y-22=0
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73. a,b,c are unit vectors and b, c are non-collinear vectors satisfying
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74. Area of the triangle formed by any tangent to the hyperbola =1 with its asymptotesis
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1)ab 2) abc 3)4ab 4)azb?
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75. The general solution of the equation jl
X

1) 2(x+y)=x2+c 2) 4(cy)=x+C 3) 4(yx)=xt+4c 4) 4xy=xt+c
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76. The area bounded by the parabola y?=4ax between the line x=a and x=4a is
28a° 362’ 56a*
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77. y=xsinx then yigo atx=0is
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78. If [z] =3 then the area of triangle formed by points z, vz, z+0z.
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79.  The integrating factor of the equation jl-ﬁl
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80.

If the two curves x=y?, xy=a® cut orthogonally at a point then a?=
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81.A person is walking in rain feels the velocity of rain as twice to his velocity. At which angle he
should hold the umbrella with vertical ifhe moves forward, i itis raining vertically downwards.
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B2.A car travels the first half of a distance between two places a spzed of 30 km/hr and the second
half of the distance a 50 km/hr. The average speed of the car for the whole joumey is
() 425 km/hr (b) 404 km/hr (37,5 km/hr @ 350
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83.Two stones are falling at a place from heights in the ratio 2:3 Their velocities on reaching the
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ground are in the ratio

(a) 5

{b)
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84.The equations of motion of a projectile are given by «=36 meter and 2y -9 93 meter. The angle
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5. The value of Iim3‘sin[six]1s
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85.Blocks 4 and s have masses of 2 kg and 3 kg respectively. The ground is
smooth. 7 is an external force 10N.The  force exerted by son 1 is:
(a) 4N (b) 6N
(© 8N (10N
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86.In two separate collisions, the coefficients of restitutions “q'and ‘e,'are in the ration 3:1.. In the

first collision the relative velocity of approach is twice the relative velocity of separation. Then the

ratio batween the relative velocity of approach and relative velocity of separation in the second
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87. Force acting on a particle is (2 +3/)v . Work done by this force is zero. When a particle is moved
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88. A machine gun fires 360 bullets per minute. Each bullet moves with a velocity of 605", If the
power of the gun is 5.4 kw, the mass of each bullet s,

(a)Skg (b) 0.5 kg () 0.05 kg (d)5gm
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09. Center of mass of two particles with masses 2 kgand 1 kg located at (1,0 1) and (2, 2,0] has the

co-ordinates of
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90. blockis in limiting equilibrium on a rough horizontal surface. If the net contact forceis V5 times

the normal forcs, the coefficient of static friction is
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91. The rear side of truck is open and a box of mass 5Ckg is placed at 3.2m away from the open end.
The co-efficient of friction between the box and the surface is 0.2. If the truck starts from rest and

moves on a straight road with acceleration 2.1u

(OFN [CER (d) &

2the box falls off the truck after a time (2= 10n:
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92.An eraser weighing 2V is pressed against the black board with a force of sv.. If the co-efficient of
friction is 0.4. How much force parallel to the black board is required to slide the eraser upwards
@2N () 28N ©4N (@) 48N
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93.A bedy is sliding down on 2 rough inclined plane of inclination 4: . The time taken by it to slide
down on the rough inclined planc is 3 times the time taken by the body to slide down the smooth
inclined plane of same inclination and length. The co-efficient of friction between the rough the
rough inclined plane and the hody is
(@)1/3 ®)2/3 ©1/9 () 8/9
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94.A certain block weights 15y in air. But it weighs only 127 when completely immersed in water.
When immersed in another liquid it weighs 13. The ratio of relative density of the block and the
liquid
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95.Air is streaming past a horizontal aeroplane wing such that the speed of air is 120m/s over the
upper surface and 90 m/s at the lower surface, with respect to the plane. If the density of air

Lt/ . If the wingis 10mlong and has an average width of 2 , calculate the gross lift of the wing.

1) 82410 (b) 10:16° (Q) 38108 (@) 76010'N
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Y6, Assertion:[A]: Whena body acquires positive change, its mass decreases.
Reason|R]: A body acquires positive charge when it losses electrons.
@a ms [ciC (v
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97.Three charges g-+gand = are placed at the versices of a right angled isosceles triangle as shown in

the figure. The net electrastaric energy of the configuratior Is Zero f o Is equal to
B - E
@, % ® % ©-2 @-a

1493
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98. The dimensions of a block are 1 cm x 1em x 100 um. If the specific resistance of its material is
31107 amixerre, then the resistance between the opposite rectangular faces is

(@) 2100 () 31072 (9 3¢ @ 0%
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99.In the clrcuit shown in the figure, the resistance AWV .
and v, are respectively 3
(@) 130 and a2 ORI R — .

(©) 90 and 30 (d) 10 and 300
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100. A plane metallic sheet Is placed with Its face parallel to lines of magnetic induction B of a
uniform field. A particle of mass m and charge ¢ is projected from a distance d from the plane
normal to the lines of induction. Then the maximum velacity of projection for which the particle
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does not hit the plate is
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101.  Assertion:[A]: The poles of a magnet cannot b separated by breaking into two pieces.
Reason|R]: The magnetic moment will be reduced to half when a magnet is broken into two equal
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pieces.
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(a) A () B ©c @D
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102, Two circular coils » and ¢ are made from similar wires but the radius of ¢ is twice that of
What should be the potential difference across them so that the magnetic induction at their
centers may be the same?
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103. A step down transformer has a supply line voltage of 2200 V into 220 V. The primary coil has
5000 turns. The efficiency and power transmitted hy the transformer are 90% and & kilowatt
respectively. Then the number of turns in the secondary is
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104, A coil of 50 turns has dimension 10 x 10 cm. It is rotated at the rate of 5 rps in a uniform
‘magnetic field of flux ensity 0.7T. The maximum emf induced in it is
(a) BV (»11v () 15V, (d@19v
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7. Ifthesines of the angles B and C of AABC satisty the equation a¢x?-a(b+c)x+bc=0, then the
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105. A small square locp of side ! is place of at tae centre or another square llop at wire of side

1(1.5>1). The loops are coplanar and their centers coincide, The mutual incuctance of tae system is
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proportional to
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106. A convergent beam of light converges to a point 20 cm behind a concave lens on the principal
axis. An inverted image of the same size is formed. Then the focal length of the lensis
(2) 20 em (b) 10em ()40 em (@ 30em
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107 A hallow dauble concave lens is made of very thin transparent material. It can be filled withair

or either of two liquids 2 or &> having refractive indices m and m respectively (s > n > 1). The
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lens will diverge parallel beam of light if it is filled with
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() air and placed in air (b) air and immersed in £,

(c) 1y and immersed in 2, (d) L2 and immersed in 1,.
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108, One of the refracting surface of a prisn of angle 3. is silvered. A ray of light incident at angle of
60 retracesits path. The refractive indes of the material of a prism is
(a) V2 (b) 5 (©3/2 @z
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109 Light of wavelength 0.600 nm from a sodium lamp falls an a photocell and causes the emission
of photelectron for which the stopping potential is 0.5 V. With the light of wavelength 400 nm

from a mercury vapour lamp, electron volt of the photocell surfaceis
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(a) 0.75 eV (b) 15eV (c)3eV (d)25eV
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triangle is
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110.  While measuring acceleration due to gravity by a simple pendulum, a student makes a positive
error of 2%in the length of the pendulum and a positive error of 1%in the value of time period. His

actual percentage error in the measurement of the value of g will be
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111, Average velocity of a particle moving in a straight line, with constant acceleration 4 and iniial
velocity . infirst  seconds is

@ wit ®) wia @ @
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112, The velocity v(in cw/sec) of a particle

given in terms of time 1 (3

sec) by the equat
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v=ar+—L-. The dimensions of a.5andc are
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113, A stone is projected in air. Its time of light is 3s and the range is 150 m. Maximum height
reached by the stone is: (z = 10m™
(@)37.5m (b) 22.5m (©90m
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114. Inahall a person receives direct sound from a source 120m away. He also receives waves from
the same source which reach him atter being reflected from the 2sm high ceilingat a point midway

hetween them. The twa waves interfere constructively for wavelengths (in metre) of
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115. A particle Is oscillating with frequency . Assuming no damping effects, which of the following
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1) equilateral  2) obtuseanglec  3) isosceles  4) sinB+cosB=2C
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statements is wrong:
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(a) Its potential energy varies periodically with frequency 2/

(b) Its kinetic energy varies periodically with frequency 2/




image168.gif
(9 Its total mechanical energy (potential energy + kinetic energy) varies periodically with
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period 45
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(d) Its total mechanical energy s not constant with infinite period.
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116, Acceleration ()-displacement (sgraph of a particle moving in a straight
line is as shown in the figure. The initial velocity of the particle is zero, The
v-sgraph ofthe particle would be

®
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117. Two identical particles of mass  carry a charge peach. I

tially one is at rest on a smooth

‘horizontz] plane and the other is projected along the plane directly towards the first particle from
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alarge distance with a speed v. If 4 is the distance of closest approach, then
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8 Ifsing s the G.M. between sinc and cosa then cos2f is equal to
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118.  The resistance of all the wires between any two adjacent dots is 2. The equivalent resistance
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between and 5 as shown in figure is
7 7
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(© %R (d) None of these
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119, In the network shown the potential difference between .«
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120, The plates of a parallel plate capacitor are separated by ¢ cm. A plate of thickness /cm with
dielectric constant 4, is inserted and the remaining space is filled with a plate of dielectric

constant 4, If ¢ is the charge on the capacitor and area of plates is.1 c® each, then potential
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difference between the plates is
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Chemistry
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121. A mixture of ethane, ethene and ethyne is passed through a bottle containing ammonical silver
nitrate. The gas coming out is
(2) Ethane (b) Ethyne

(<) A original mixture {d) A mixture of ethane and ethene
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122." Which of the following can not be identified by carbyl amine test ?
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(i) CHs - NH2 (ii) CaHsNH» (iif) CaHs - NH - CeHs. (iv)(C2Hs)sN
(@) (), (i) (b) (i), (i) and (iv) (<) (iii) and (iv) (d) (i) and (iv)
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123, R-C=C~ R —gz addition product, the product is
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124, A+B—2%2,CH,CHO+CO, + H,0; 28— %2 CH,COCH, + CO, + H20.
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‘The type of hybridisation of carbon in A is
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(a)sp (b) sp? (c) sp* (d) spd
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125. CHNH, S22 X, ,y_meone 7 7 in the above reaction is

(a) metanitro aniline (b) ortho nitro aniline
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(C) para nitro aniline (d) para amino benzene sulphonic acid
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126 C,H,0—25» orthohydroxy benzaldehyde. This reaction is known as

(a) Friedel - Craft’s alkylation (b) Reimer - Tiemann reaction
(<) Rosenmunds reaction (d) Carbyl amine reaction
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9. If co520°=K and cosx=2k?-1, then the possible values of x between 00 and 360° are
1) 1400 2) 400 and 1400 3) 400 and 3200 4) 500 and 1300
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127, X+CHMgBr—Y —€—Z. If X is lower homologue of butanone , then number of hybrid
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orbitals at carbon atoms in z are
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128. An organic compound X reacts with sodium metal and forms Y. On heating with concentrated
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sulphuricacid gives diethylether, X and Y are
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(a) C3H70H, CH3ONa (b) CH3OH, CHsONa
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() C4H3OH, C4HoONa () C:HsOH, CHsONa
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129. The end product C in the following sequence of chemical operations is




image204.gif
(CH,CO0),Ca—t=4 B2t ;¢
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(a)acetaldeyde  (b) formaldehyde oxime (9 methylnitrate ~ (d) acetoxime
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10. If a, B are solutions of a tanf+b sec 6=c, then tan(a+B)=
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130. The product C of the reaction CH,CN—"2 ANt g% ,c 15
(a) Methyl amine (b) Ammonium acetate

(©) Ethyl amine (d) Acetamide




image207.gif
131, CaC, MO, tdfe ,p_10.1150, ., the compound C can be used

Py
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(i) In the preparation of floor polishes (ii) As anti oxidant in rubber industry

(iif) In the preparation of cheap perfumes (iv) As an oxidant




image209.gif
(a) (iii) and (iv) only (b) (i), (iit) and (iv) only
() (i), (ii) and (iii) only (@) @,

i), and (iv) only
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132, CpHs -0 -CpHs — > X—44% > Y; Xand Y are
(a) CH;COOH, C:He (b) C2Hs, CzHsOH,
(c) CzHa, epoixde (d) CzHa, C2Hs




image211.gif
133. Set - I (reaction) Set - I (product) correct match is
(a) CHO—4% > a) Ethylene @1-22-b3-c,4-d

50,
Tk

(b) CHO—5%—  b) diethyl ether (b)1-c2-b3-a,4-d
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(c) CHO—%% o) Ethyl hydrogensulphate () 1-¢,2-b3-a,4-b

e

(d) CaH,0—5% > d) Ethyl acetate (@1-¢2-23-d,4-b
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134. A sample of water cortains 11.1 ppm of CaCl> and 9.5 ppm of MgCly. the hardness of that water
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sample is
(@ 20 () 206 (9)206 (@200
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135, ‘The first ionization potentizl of
electron affinity of Cl is 3.6 eV. The value of Ax for the reaction

ium is 5.4 eV and first




image18.gif
2a 2ab
2ac
< =7 N
Aoz Rl attb





image216.gif
Ligg + Cly) — Li*g + Clgg is
(@)+9eV (b) 18V (0 +09ev (@)-45ev
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136. Which of the following is chemical adsorption isobar ?

oo NG
(I: (x/mi xm X @ ¥

log P— P—
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137. The oxidation states of oxygen in the products formed when fluorine reacts with concentrated
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‘caustic soda are




image220.gif
(@) -2,0 (b)+2,-2 (©+2,0 (d)+1,-2
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138.  The order of Lewis acid strength of halides of Boron is
(a) BF3 > BCl3 > BBrs > Bly (b) BF3 <BCl3 > BBrs > Bly
(c) BF; < BCly < BBrs < Bl3 (d) BF; < BCl; < BBr3 > Bl
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139. The order of boiling points of hydrides of VIA group elements is
(a) H20 < H2S < HaSe < Hz Te (b) H20 > HzTe > HaSe > HaS
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(c) Hz0 < HoTe < HoSe > HS (d) Hz0 < HzS > HzSe > HoTe

140. The order of bond dissociation energies of halogens is




image224.gif
(@) F2>Clo> Brz > Iz (b) F2<Clz < Brz> Iy ()Clz > Brz > Fa> Iz (d) Clz> Bra> > F

141. The number of ¢ bonds and 7 bonds in XeOs molecule




image225.gif
(a) 3 0 and 3 bonds (b) 3 abonds and 1 bond
()2 o and 4 whonds (d) 10.and 3 bonds
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11. If sintatsinib4sinc=n, then the value of ay1-a’ +byl-b’ +cy1-c* will be
1) 2abe 2) ateb2ac? 3)absbesca 4)3abe
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142. The colour of CrO? is due to




image227.gif
(a) d-d - electron transition  (b) charge transfer phenomenon

(c) d - orbital splitting (d) all the above
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143. The haemoglabin from the red blood corpuscles of most mammals contains approximately
0.33% of iron by weight. The molecular weight of haemoglobin as 67200. the number of iron
atoms in each molecule of haemaglobin is (atomic weight of iron = 56)
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144.  For the redox reaction CrLo:+C.07+H" (e +C0,+i10 the correct coefficients of Cr,0f .,07 and
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#* in the balanced equation are
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@135 (b) 2,6,10 (© 15,14 @ 1314

145, The hydrated salt xu,cc,.17.0 undergoes 63% loss In mass on heating and becomes anhydrous.
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The value of x is
(@10 ()12 ©8 @18
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146, ‘The ratio of 2™ Bohr radii in He* and Li** is.
(@) 32 (0 2:3 (913 @31
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147. A moving electron has 455 x 102 joules of kinetic energy. The wavelength of the electron is




image20.gif
sin3B

12. If 2b?=a’+c?, then the value of
sinB.

will be
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(mass =9.1x 10" kgand h = 6.6 x 10 kgm?sec')
(@)7.25x107 cm (b)) 725x107m () 7.25x108m (d) 625x107cm
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148. Increasing the conc. of the reactant by 27 times, the rate increases by 3 times. What is

the order of the reaction?
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()1 (b) 133 () 1/3 @z
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149.  The RMS velocity of 8 gms of He is 300 ms'.. Total kinetic energy of He gas is
(a)120] (b) 3601 (c) 2401 (@
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150.  The solubility of LiOH ina solution of pH =8 =8is Ky =1.5<10™*
(@) Lot (b) 1510 () 1210 @ 1sact
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151, The Vapour Pressure ofa Pure liquid ‘A’ is 70 torr. at 27°c. It forms an ideal solution with

another liquid B. The mole fraction of B is 0.2 and total pressure of the solution is 84 torr at




image243.gif
27°¢.The vapour pressure of pure liquid Bat 27 ¢ is
(a) 14 torr (b) 56 torr (<) 140 torr (d) 70 torr
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152 A 0.2 molal aqueous solution of a weak acid (HX) is 20 per cent icnized. The freezing point of

+his solution is (Given Ki = 1.86°C kg mol* for water)
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(a)! - 0.45°C (b) - 0.90°C () -0.31°C (d) - 0.53°C
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153. Three arrangements are shown for the complex [Co(en) (NHpCl2]*. Pick up the wrong
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statement.




image248.gif




image249.gif
un
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(a) 1and Il are geometrical isomers (b) Iand 11l are optical isomers

(c) 1and il are optical isomers (d) 11 and 11l are geometrical isomers
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154.  Which of the following is diamagnetic ?
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(a) 03 (b)02 ©o0; @ o
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155.

Which oxide of nitrogen is the most stable:

(2) N0z === Nagy + 202(5; K = 6.7 x 101 mol litre 1
(b) 2NO === Nzgp + Oz(g) K = 2.2 X 10 mol litre!

() 2N205() == 2Na(g + 50z(9; K = 1.2 X 10% molS litre's
(d) 2N20( === 2Nogg) + Ozggy; K = 3.5 x 103 mol litre-t
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156. ‘Tae electrolytic conductance of 0.01M solution of acetic acid is 0.000163Scm-t at 298K. The %

of dissociation of acetic acid at 298K. Given A%, of acetic acid = 390.7 Scm2/mole at 298K.




image255.gif
) 46 ) 153 (©)337 (d) 417
157.Which of the following is obtained by reacting salicylic acid with methanal in presence of conc.
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+k,
1) i-8j+2k

=i+j+kandc=4i

-3j+7kthe vector T satisfying rx

2)-i-8j+2k 3)i-8jj-2k

cxbandra=0is

4) i+8j+2k
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HS04 .




image257.gif
(a) Aspirin (b) Methyl salicylate (c) Sodium salicylate (d) Ethyl acetate
158. The number of unit cells in 58.8 g of NaCl is nearly




image258.gif
(a)6x1020  (b) 3x102
(0) 1.5x102
()0.5x102
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159. (+) - Sucrose has a specific rotation of +66.5°, while D~(+) - glucose and D~ (-)- fructose have
specific rotatians of + 52.5° and ~92.4° respectively. After complete hydrolysis of (+)-sucrose by
dilute acid, what will be the specific rotation of the hydrolysis product, called invert sugar [a 1: 1
‘misture of D- (+) - glucose and D~(-)- fructose]?




image260.gif
(a)-39.9° (b)-724° (© -199° (d)-34.9°

Specific rotation of the hydrolysis product a 1 : 1 mixture of D- (+) - glucose and
D-(-)- fructose = (+525- 92.(d)x1/2=-199
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160.  Match list I with list 11 and select the correct answer

List-1 List- 11




image262.gif
(a) Phenol-Formaldehyde (i) Synthetic rubber
(b) Terepthalic acid + Ethylene Glycol (ii). Bakelite
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() Caprolactum (iii). Nylon
(d) Butadiene + styrene (iv). Terylene
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14,

a, b are position vectors of A, B. The point P divides AB in the ratic 3:1 and Q is mindpoint of

AP then position vector of Q is

y Bie 2 5a+3b 3 3ab y Brsh
4 8 4 8





image24.gif
15, Thelines 1 = (6a—4b+ 4c) +5(~6a - 4b+ c)andr = (-a—2b—3c) +t(2a-+ 4b—2c)intersect at

1) 4c 2)- 4 32 4-2c




image25.gif
16. The vector of magnitude 126 along the internal bisector of angle between the vectors 4i-7j+4k
and i+2i-2k is
1) 2(7i+2j+2k) 2) $4(7i 421 3) 4(7ij-2) 4)4(7i 4219




image26.gif
17. The position vectors of paints A, B, C, D are (0, 2, 1), (-5, 3, 2), (2, 4, 1) respectively if

0 then position vector of P i
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1)(0,0,5)

2)(0,10,5)
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18. 1B isthe image of A=(1, 2) about the line x-y+5=0, then AB

1)V2 242 3)82 922
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19. The lines 2x+3y=

2x+3y=8 cut the x-axis at A respectively. A line L=0 drawn. through the

point (2, 2) meets the x-axis at C in such a way that abscissa of A, B and C are in the aritametic
progression. Then the equation of L=0 is

1) 2x43y=10 2) 3x+2y=10 3) 3x-2y=2 4) 2chy=6




image30.gif
20. The quadrilateral formed by the pairs of lines 2x2+5xy+2y?=0), 2x2+5xy+2y2-15x-15y+25=0 is
1) parzllelogram 2) rhombus 3) rectangle 4) square




image31.gif
21, W21=1+2i, £2=2+3i, £3=3+4i, then 21, 22 and 23 represents

1) equilateral triangle ~ 2) right angled triangle  3) isoscelestriangle  4) collinear points
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22. Ifa+ip=tan
1)x2sy22xsine=]  2)xyedytan2e=]  3) cot2aliy)=lex ) x4vi+lxecotlasl

x+ly and « is constant then, the locus of:
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23. The angle between the tangents from the origin to the circle (x-7)2+(y+1)2=25 is
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24. Ifthe circle x?+y?+6x+Gy+a=0 bisects the circumference of the circle x?+y?+2x-6y-b=0, then a+b
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is equal to
1)38 2)-38 3)42 428
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PR |
+1 2(x+1) 3(x+1)

25. The sum of the series
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1) logex 2) 2logex 3)-log(x+1) 4)3logex
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+-—=— is equal to

2) lag§ 3) log(8e) 4) log (4e)
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s a rooL of ax?+bx+1=0,a, b are real, then
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1) a-25,b--8 2)a-25,b-8 3)a-5,b-4 4)a-4,b-5
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1 n n
28 IfD,=| 2k n’+n+1 n'+n [and} D, =56, then n equals
k-1 n*  nPensl] M
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16

2)7

38

4)10
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29. Statement II: A given surd may have infinite number of rationalizing factors.
Which of the above is correct.
only! 2) only 11 3)both 1&11 4) neither [ nor It
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30. The equation x2+ax+h?=0 has two roots each of which exceeds a number c, Then

1) az<ab? 2) ctractb>0 3) 7%< ¢ 4) a2>4b?
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EAMCET GRAND TEST SERIES -1
EAMCET GRAND TEST SERIES-1
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31. The sum of all positive divisors of 360 is

1) 1170 2)1092 3)1024 1) 1210
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32. Aman has 7 relatives 4 women and 3 men. His wife also has 7 relatives 3womer and 4 men. The
number of ways in which they can invite 3 men and 3 women so that they both invite three is
1)485 2)584 3)720 1) 458
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33. If log}=a then the value of log}; Is terms ofa

1

3+a 2 3+loga 4+a 4 Hloga
1+a T+loga 3+a 3+loga
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34. 1ff(x)=xv, then the value of r(x)Jl_

1)n 2)2nt 320 9 @




image50.gif
35, Ifgis the inverse of fand fi(x)= ——, then g'(x) equals.

1+x
1) 1exm 2) 14(f(x)]" 3) 1+[g(x))" a0
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image52.gif
1) %tan"(%un2x]+c 2) ﬁtan"[%tanzx]+c
3) %lan"(%wﬂx]ﬂ? 4) ﬁ[an"(%mmx]n
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X sequalto
37. Isinx.sin(x +a)
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sinx sin(x+ o

1) cosecalog|— +c 2) cosecalog 9, ¢
sin(x + ) sinx
sec(x+al eca

3) cosectlog| 4) cosecalog| +c

5
pren o=
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1 H ]
38, If [f(x)dx=2and [[5+F(x)}ix=9 then the value of [f(x)dx=
5 : :

12 2)3 34

45




image2.gif
1. f(x) isa polynomial in x satisfying f(x)+ r[ ) £(x)f] [ ]and 1(2)=9 then f(3)=

127 2)10 3)28 99
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39. ﬁcusnsinx\dx =

)2 2)242 3)342 042
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2

w0, | * ix=
AT aamae): T
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41| *lxn"(len

S+asinx
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2
1)A=Z
A3

5 5
3)B=2 4)B=-2
) B=3 d 3
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42. Locus of the centre of the circle which touches x-axis and cuts off an intercept of length 2/ on
yaxisis
1) x2ay=l 2) xty2=l? 3)yrar= 2 4)x4y=21




image62.gif
43. A(1,2), B(7,-3) C moves on L=x+3y-18=0. Locus of centroid of AABC is a
1)aline paralleltoL  2) perpendiculartoline L 3) nota line 4)
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44. The upper three - fourth of a ship’s mast subtends, at a point on the deck which is 40 meters
3
Lt P, A gk S~ T B o e stk GECH 1 DTS 5

140 2) 80 3)120 4)160
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45. Number of normals drawn through (9, -6) to y2=4x
10 2)1 3)2 93
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46. P(-2,-1), (0, -3) are limiting points of coaxal system of which L=xZ+y2+5x+y+4=0 is a member.
=x2+y2-%-2y-15=0 is orthogonal to C. Point where polar of P cuts circle S=0 is
1)(6-3) 2)(-6.-3) 3)[6.3) 4) (6,3)
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2. Domain of f(x)= (9-X)px-s is
1)[4.9] 2){4,5,6,7,8,9} 3){4,5,6} 4)(5,6,7,8}
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47. (1, my, 1) and (2 man;) are D'rs of two lines inclined at an angle 1200 then D.C's of the line
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bisecting the angle between then are

1) (li#lz, my+me, ny+ng)
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image69.gif
Ifa triangle is inscribe in xy=c? then its orthocentre lies on
1xy=c2 2) eyt 3) xe-y2=c?

Normals drawn at P, Q intersects on parabola y2=4ax at (x:, yi)then PQ=
1) (x:+8a) (x1-4a) 2) (xi+4a) (x:+8a) 3) (r+4a) (x1-8a)

) xtyr=1

4) (u-4a)(x:-8a)
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51.

‘Whena coinistossed 5 times the probability of getting 3 heads & 2 times is.

5 5 5
RS D45 35

S
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52, 1f2 squares are selected from a chess board the probability that they have a side in common

2 1 1 1
17 2) — 3L L
19 ) o1 ) BT
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53. A student is given true false examination with 10 questions. If he gets 8 or more correct he
passes the examination probability that he passes
1 1 7 3
1) — 2)— 3L H
) 128 ) 16 ) 28 ) 28




image75.gif
(4B*+BC*+CA%)
541G is the centroid of AABC where A=(a, 0), B=(-a, 0) and C=(b, ) then |~ /=
(ca?+6B*+6C7)

171 2)2 3)3 4




image4.gif
3. Letf(x) be twice differentiable function and f11(0)=5, tren lﬂ‘/w is equal to
1)30 2)120 3)40 460
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55. The mean ofa binomial distribution is 2.4 and variance is 1.4 then the value of n is
6 24 3)3 92
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56. If tanh™"
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1 lanh[%] 2) tanh2 3) tanh4 4) tanh8
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kpty  x oy
57. The determinant [yp+z  y z |=0if
0 xp+y yp+z|
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1%y, zareinAP.  2)xy,zareinGP. 3)xyzareHP.  4)xy,yz zxarein AP.
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O A |
58. If pA'+qi’ +rA*+sh+t=| A+1 2-L A-3thentequalsto
=3 A+d 3
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1)-33 2) 39 3)27 924
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59. !fA=|:; :] and AKA-51;=0, then the value of kiis

3 2)s 57 PEd
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60. A letter is selected at random from word ASSISTANT and another is taken out from STATISTILS.
The prahahility that they ar the same letter is

1 13 19 12

1) 2= )2 P

G 15 V5 '
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61. Ifthe function XX +2C0SX i in . oncing then k belongs to the interval
sinx+cosx

1) (=, 2) 2)(2,%) 3)(-2,2) 4R
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4 Letfxey)=M(). (y) and 10)-1+xg(x) G(x) where Img(x)a andlimG(x) - b.. Then F(x)-Ki(x),
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62 I x2+y2+2220, x=ty+bz, y=az+cx, z=bx+ay then a2+b2+ci+2abe=
12 21 3)asbrc 4) ab+berea
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63. IfV3=xyz Then Viy.=

1
1) — 2) — 3) — 4]
i@ o ) o7 ey
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64. The distance ‘s’ covered by a particle moving on a straight line in t' sec is given by
$=20%-912+121+6. When Uhe acceleration is zero, the lime is
1)2/3 sec 2)1/3sec 3)3/2sec 4)4/3sec
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65. (A): The equation asinx+cos2x=2a-7 possesses a solution, if a2, 6].
(R): -1<sinx<1 ¥xeR




image90.gif
1) Both A and R are true R is correct explanation of A.
2) Both A and R are true R is not correct reason of A.
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3)Aistrue Ris false.
4) Ais false Ris true.
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66. The point on the curve y=x*+7x+2 which is closest to the line y=3x+2 is
1 (-2,-8) 2)(-2,8) 3)(0,2) 4 (-4,10)
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67. Ifxy=15,x>0,y>0 then the minimum value of 5x+12y is
115 2)30 3)60 4)120
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68. Statement | : If lim ] =4thenb=log, 2

x-b
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Y
Statement I ; If Iim(l+5+£‘ =e? then a=1, b=2 which of the above is true.
=TT

1) only 1 2)only Il 3)both 1 &11 4) neither I nor [1




